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101|R#A7 L 143 23 120 Kg |&)I 1,296 756 fEE 5,400 432
102|357 L 1,631 1,631 Kg FiE 1,512 579
111|&EEF £ 581 88 493 Kg |ER 1,242 162|EERE - Bl 1,728 360
113|RAV S 8 8| Keg FfE 5,400 2,160
114|B5EFE 185 185| Kg e 2,646 864
15[ 1= 1 1 Kg FfE 1,620
117[1E 299 119 180 Kg |£EE 1,512 162| L 3,780 594
121|hbixE 121 92 29| Kg |ES 1,512 135| ) 1,620 648
134[#= = 437 255 182 Kg |&) - =4 3,300 1,296| & 2,376 1,836
137|&5E.3. < 73 48 25| Kg |BER 3,780 1,944 BER 6,634 4,104
140(5 I 13 13| Kg sl 86,400 29,700
147|EZ O 53 53| Kg |EE 9,720 g - RIS 9,180 5,940
158|EIEA A LS 384 78 306| Kg |ER 1,296 1,134|f I8 2,106 378
201{Lvb L 526 526| Kg = - dbiEE 621 300
203|/hd L 76 76| Kg R 378 324
206| = 1F 760 760| Kg {2 1,404 417
207| = AE 198 198 Kg sl 3,240 905
208| Mo % 243 243 Kg =40 3,240 540
210|1F ALy 124 124 Kg [wO 9,450 1,053
212|&FE3 Y 258 258 Kg E)I - B2 2,160 1,300
251|< B %<3 261 261| Kg KI5 4,212 3,294
254|E b ECH 688 30 658| Kg |=40 1,512 2P 1,998 1,026
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303[A 27z Kg & 731

305|xAah>0b Kg FJE 4,104

315|7: B9 6 25 25  Kg = I 4,104 3,564
319|2h o 257 122 135 Kg [EE 1,404 351|E&fE 2,592 413
332|= 13 WA =EF 170 170] Kg Bl = 1,944 1,728
351(4EH 105 5 100 Kg [3&E 3,780 EE 5,184 3,240
35411FxE<Y 61 16 45| Kg |FFE 1,296 TFE 1,782 180
355(mp Y 105 105 Kg A - BE 1,728 600
356(L L& 65 65 Kg SER 1,512 108
357|7RE 24 241 Kg = 1,148

362(m & 27 271 Kg IN= 2,520 936
401|H W 24 241 Kg A0 2,592 2,160
4025 E 15 15| Kg FAN 5,778 4,536
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507|@— L Ly 10 10| Kg =] 810
5124 A L 220 220| Kg b 1,450 1,290
523|AEAAT 2 O 168 168| Kg Bh 2,916 1,380
54| AEE E XV 228 228| Kg thE 1,728 1,320
558| 20 20| Kg b 972
560|487 2 697 697| Kg =] 2,680 980
576|4R & 1F 110 110| Kg B - A 2,430 1,050
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70110 BA 4,082 1,654 2,428 Kg |EE 3,510 2,200| = 3,543 1,566
709|Lb LALF 3 3| Kg FE 1,305
710(2 2 AT 92 921 Kg Ko 2,862 1,296
BlEFAI L 319 319 Kg SR 5,184 1,157
755|FH&» C 18 18 Kg EE 710
56| £ T 107 107] Kg SR 1,152 1,080
801 [3BAT = 1S 300 3001 Kg FE-mA 1,728 297
802|111 10 10 Kg blo ] 1,296
8041 x ¢ 50 501 Kg mE 1,188
8051 1E 372 3721 Kg B =2 1,269 716
810|FAKF 72 72 Kg bF 1,728
8lh|—W T AX 8 8| Kg blo el 1,008
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